== A
N = 0] &F AF S & AN A
20188 = 20l A LEHSH 23S A
EX: 23R4
HM: 2IRMAMABEEENS
el SESHT BE Y M (B9 ®R)
(o
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
E3 ALY 80,111,872 99,438,680 N 19,326,808
= 51,437,300
Xl 5,893,000
Jl 2,535,030
& 20,246,542
SRMAMAHANEENS 76,021,456 95,564,801 N 19,543,345
= 49,437,300
Xl 4,258,000
Dl 2,535,030
c 19,791,126
LERSM B Y S 1,604,470 1,763,550 A 159,080
= 459,800
o 1,144,670
LSS s 3 555,600 551,850 3,750
308 MXISHMSOIA 555,600 551,850 3,750
01 IXHHIMNEXTZ 555,600 551,850 3,750
ORI EsXNF2S(ESK, 21W) 442,200
ORE 23 Z2HEAI & NA 113,400
N2 (28HM)0s HH & 274,200 175,700 98,500
308 XAHXIGHHM SO0l & 274,200 175,700 98,500
01 AXHHIMNEXS 274,200 175,700 98,500
OXES3so &2 IHAAG 149,200
OXE23ss 85 XA 80,000
OJIXIAl ECel)] sUAD I8 X828 82
| 15,000
OOt=s A SUHAF HI S 15,000
OO0t A} g 2 MAALS Chedl Ml 15,000
LSS FEEE 6,300 6,300 0
307 2Iz2t0| & 6,300 6,300 0
04 SIZ2HSHAAISH E & 6,300 6,300 0
ORE 23 &35 & 6,300
LSS dxu=s2 (A2 RHE) 539,500 799,500 A 260,000
= 415,000
= 124,500
403 XX SHHS K20 ™ 539,500 799,500 A 260,000
= 415,000
= 124,500
01 XIS A=Z2E X 539,500 799,500 A 260,000
ORE23M s 2AHEl 539,500
= 415,000
o= 124,500
SIS 2LEHE & JI=23 135,000 135,000 0
207 I & d| 135,000 135,000 0




2 296D
M PHFUAMATEETS
el RSN 2E L A CERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
01 2284 135,000 135,000 0
OfEEsM Z2LHE & JIE3F 135,000
SEEM drus2 B2E 2H3AY 64,960 95,200 A 30,240
= 44,800
< 20,160
308 XXM SOIA 64,960 95,200 A 30,240
= 44,800
< 20,160
01 AXHHILEES 64,960 95,200 230,240
ORE2sM dcus2 S35 A 64,960
= 44,800
< 20,160
SEIHM NE & d5FH o7 28,910 0 28,910
207 Ao 8,910 0 8,910
01 284 8,910 0 8,910
OREIsM 522 XY Etgd AR (0
10%) 8,910
308 XtXIEHHSOIA 20,000 0 20,000
01 AXHHILEEXS 20,000 0 20,000
ORER3M XNE =82 (NY) 20,000
NE 23 2E&2e 44,056, 142 58,211,117 A 14,154,975
= 30,517,500
J| 1,000,000
< 12,538,642
HEANE ESFUI(AMZXE) 1,710,000 1,725,000 A 15,000
= 1,140,000
< 570,000
403 MHXHHSA=0l& 1,710,000 1,725,000 A 15,000
= 1,140,000
< 570,000
01 HXHMA=E X 1,710,000 1,725,000 A 15,000
O EAEE=FH| 1,710,000
= 1,140,000
< 570,000
NSHSAE E= 820,000 100,000 720,000
403 MtXISHH S0l & 820,000 100,000 720,000
01 XM A=2EE 820,000 100,000 720,000
O=G At =8 FHl 75,000
OMEAL A3 QA &I 25,000
S&A =R EHI 50,000
Ofge I 100,000
O==GAMN S22 &= & HES 100,000
OsstAF =EHZHl ALY 150,000




M 23R4
B 2QUOHNNBENS
& XNEES3M E&2e (&)
SA - BB B () - MM - BES Ol &t o San HmEET
OZ At =8 FH 20,000
OdA 252 A= 250,000
OZAMN HSAMEIRAU A2 QAH AIEHA
HS 50,000
SR Mael KA 27,500 27,500 0
= 27,500
308 XX EHH SOl A 27,500 27,500 0
= 27,500
01 HXNHHNBHEES 27,500 27,500 0
O=JtEa M X =2=MHa A 2el 27,500
= 27,500
SEESANES FHl 225,000 260,000 A 35,000
403 XSS =0l & 225,000 260,000 A 35,000
01 HXSHMA2E X 225,000 260,000 A 35,000
Os&gAN&EsE I 200,000
OAEA A=ZA 10,000
OEEANE JIsEZ 15,000
SANHSHM AUE L TREX 30,000 30,000 0
403 XSS A=0l & 30,000 30,000 0
01 AXSHMA=2EE 30,000 30,000 0
OZXNE23HM U 30,000
=INE 2N & SES3NW = 32,675,000 45,179,075 A 12,504,075
= 26,850,000
< 5,825,000
403 XIS S X201 & 32,675,000 45,179,075 A 12,504,075
= 26,850,000
< 5,825,000
01 XXM 22 = 32,675,000 45,179,075 A 12,504,075
O=JIXNZEZ2sM & 32,300,000
= 26,600,000
= 5,700,000
O=INE sE=3 375,000
= 250,000
= 125,000
Mg 2el 45,000 45,000 0
201 2yt 2 Y| 45,000 45,000 0
01 At 2t 2l 45,000 45,000 0
O=2stMeAs 2 (ol 45,000
% OI0IKl ZHIIALY 2,257,142 4,350,643 A 2,093,501
= 2,000,000
< 257,142
403 XIS E X201 & 2,257,142 4,350,643 A 2,093,501




M 23R4
M PHFUAMATEETS
& XNEES3M E&2e (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
= 2,000,000
< 257,142
01 HIXSHMA2E X 2,257,142 4,350,643 A 2,093,501
OLdE OI0IXI ZIIAH 2,257,142
= 2,000,000
< 257,142
HSAE ZTHAAE SXNES 120,000 137,019 A 17,019
= 80,000
< 40,000
308 XX EHHSOIA 120,000 137,019 A 17,019
= 80,000
< 40,000
01 AXHHILEES 120,000 137,019 A17,019
OEESAE ETHAIAE SAE 120,000
= 80,000
= 40,000
2o SSAHY 2,000,000 2,000,000 0
J| 1,000,000
< 1,000,000
307 gl & 2,000,000 2,000,000 0
J| 1,000,000
< 1,000,000
02 IZHEHAHE L 2,000,000 2,000,000 0
OFstMHssSAHLY 2,000,000
J| 1,000,000
< 1,000,000
EXNEZM E+=FH| 3,130,000 3,090,000 40,000
403 MtXISHHE =01 & 3,130,000 3,080,000 50,000
01 XS KL= 3,130,000 3,080,000 50,000
OSXE25tH 243 2,500,000
OOl ADIOFALARl 22 ZAH(FUEN) 100,000
A& g Sx=FHl 50,000
OzZdgn g8 & BBYANE £X 10,000
OR0 &g =HFH 300,000
OZHUELM QAU FHFH 20,000
OR0 S3cIsH OFME S AM(FUEA) 150,000
SXE 23 =IHNE 23 &34 100,000 100,000 0
308 XXM SO0IA 100,000 100,000 0
01 IXNHHBNEES 100,000 100,000 0
OZXE 2 2IHKE &34 100,000
HEAMNE LTAIALY AF(AZLHE2) 630,000 1,148,880 A 518,880
= 420,000
< 210,000




M 23R4
M PHFUAMATEETS
& XNEES3M E&2e (&)
5 - 4
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
403 UHXSHHSA=0l& 630,000 1,148,880 A518,880
= 420,000
< 210,000
01 X SHMA2E X 630,000 1,148,880 A 518,880
OESAHE ETHAIAE 2= 630,000
= 420,000
< 210,000
EXNEEZSM FLAESZA 256,500 0 256,500
207 A O] 256,500 0 256,500
01 2339 256,500 0 256,500
OEXNHEZSM FEIIEs L BEEAY S(
Ol AFE2E 10%) 256,500
ZIKNE23M L SES23AM E+FH N (HA) 30,000 0 30,000
403 MtXISHHS =0l & 30,000 0 30,000
01 HXSHMA2E X 30,000 0 30,000
OR0 &3¢l RAXUN 2Z2H HoAAE &X
S A 30,000
N2 Y 72,000 69,840 2,160
SAHEIIE SESEM U2 2& 18,000 16,200 1,800
307 gl2tol & 18,000 16,200 1,800
02 IS AHE L 18,000 16,200 1,800
Ogate sEAANNS UL (0l ArE 2 10%) 18,000
sg A SXNAY 29 54,000 53,640 360
306 ¢ 2 54,000 53,640 360
01 &3 54,000 53,640 360
OFY o SXAA 2L (0laEZ 10%) 54,000
FoRES FUHE L 2 6,819,477 6,205,543 613,934
= 1,530,000
Xl 4,258,000
J| 19,030
< 1,012,447
HSAAL 23T EEAE 180,000 156,000 24,000
= 120,000
< 60,000
308 XXM SOIA 180,000 156,000 24,000
= 120,000
< 60,000
01 XML EES 180,000 156,000 24,000
ONSLAL 223t M 180,000
= 120,000
< 60,000
g Ragy 88 80,000 50,000 30,000




SN 2SR
MM SHARMOAMHREENS
ool 2Eemo FHY ¥ B8 EEH-E)
SA - BAEH) - NRAY - LS 0l &k 24 il HRE2
201 pte | 80,000 50,000 30,000
01 At el 80,000 50,000 30,000
OzY 23R 22 80,000
THOU R4 QI AL T B | 21,477 22,016 539
b 19,030
= 2,447
308 X SHASOIN 21,477 22,016 A 539
b 19,030
< 2,447
NP EREES 21,477 22,016 539
ORI Rt BIZSAL TS B 21,477
pJ 19,030
= 2,447
SR BB 4,258,000 2,898,000 1,360,000
X 4,258,000
403 XX A S 201 & 4,258,000 2,898,000 1,360,000
X 4,258,000
01 XIS H A28 = 4,258,000 2,898,000 1,360,000
OSFAMX UXNEXES 25 1,500,000
X 1,500,000
OZ dgel 2023502 J| 300,000
X 300,000
OBAEHS 28 A 700,000
X 700,000
ORTA S22 &S 100,000
X 100,000
OBMBAl 28R4 243 608,000
X 608,000
ozsdss Il 250,000
X 250,000
O4+SA RBHAIZ A= 600,000
X 600,000
OS2el DHHAZEZ UL T AL 200,000
X 200,000
ST O At 900,000 1,200,000 300,000
= 600,000
= 300,000
308 X SHASOIN 900,000 1,200,000 300,000
= 600,000
< 300,000
P EREES 900,000 1,200,000 300,000
OS& T OFg At 900,000
= 600,000
= 300,000
MMPET ALY 630,000 1,434,767 804,767




M 23R4
B 2QUOHNNBENS
S SIRM FHNY ¥ BE (29l & 2)
= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
= 360,000
= 270,000
308 XXIEH S0 A 630,000 1,434,767 A 804,767
= 360,000
= 270,000
01 AXSHHBLEES 630,000 1,434,767 AB04,767
OMMZ5HTH AL 630,000
= 360,000
< 270,000
g M 23 2EEAY 525,000 435,760 89,240
= 350,000
< 175,000
308 XtXIEHH SOl A 525,000 435,760 89,240
= 350,000
< 175,000
01 AXNHHBANEES 525,000 435,760 89,240
OSN3 Z3M M 525,000
= 350,000
< 175,000
N2 WE AHY 150,000 0 150,000
= 100,000
< 50,000
308 XXX SO0 150,000 0 150,000
= 100,000
< 50,000
01 HXNHHNBHEES 150,000 0 150,000
OXNYGZstRL NEAY 150,000
= 100,000
< 50,000
F2eW JsEZAY 15,000 0 15,000
403 MtXISHH S =01 & 15,000 0 15,000
01 AXSHMA2E X 15,000 0 15,000
O&W JIsEZAY 15,000
galetn d9al iz X 10,000 0 10,000
308 XXIEHHSOIA 10,000 0 10,000
01 AXHHILEES 10,000 0 10,000
(OF~ASES RS ES DAL 10,000
BH-alct AMFESAMY 50,000 0 50,000
306 ¢ =2 50,000 0 50,000
01 &3 50,000 0 50,000
OUH-4let A AAY 50,000
o S AL 2,220,850 2,385,000 A 164,150
| 1,516,000




EX: 23R4
B 2QUOHNNBENS
CHRl: 235 2 ALY (2 &HH)
(o
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
= 704,850
=St et FHI A UK ¥ E= 825,000 825,000 0
J| 550,000
= 275,000
308 XHXIEHSOIA 825,000 825,000 0
J| 550,000
= 275,000
01 AIXSHMEMNEX= 825,000 825,000 0
OZEQR2X2SM &N HH K Hi X 825,000
J| 550,000
= 275,000
S UL XAIE 25 872,850 1,020,000 A 147,150
J| 700,000
& 172,850
403 XX SRS K20 & 872,850 1,020,000 A 147,150
J| 700,000
& 172,850
01 XIS A=Z2E X 872,850 1,020,000 A 147,150
OZIDXNEESSM MHEXAE X L WA 752,850
J| 620,000
&< 132,850
OS2 M HIAE L SE2M HHEXAIE
A X 120,000
J| 80,000
& 40,000
CXNEZ2SM HMHAIE 25 200,000 200,000 0
403 XX SRS K20 & 200,000 200,000 0
1 ARSI 2E R 200,000 200,000 0
OEXNAEESSM EMMAIE 25 200,000
S SBAIE A2 & 323,000 340,000 A 17,000
J| 266,000
& 57,000
308 XX G SO0l A 323,000 340,000 A 17,000
J| 266,000
= 57,000
01 AIXSHHEMNEX= 323,000 340,000 A 17,000
OZLESX2M dat2tel S L SUTHA
A SA2e 323,000
J| 266,000
& 57,000
HHSa ST ¥ 22 21,147,214 26,879,924 A5,732,710
= 16,930,000
= 4,217,214
ESME (R0 NE) MM SHER 20,000 20,000 0
308 XHXIEHSOIA 20,000 20,000 0




M 23R4
M PHFUAMATEETS
el NAsA ST 2 2el (SH9: &)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
01 HIXNHHNBHNEES 20,000 20,000 0
Oet=2 ME MASL SHEL 20,000
N ANAH R LS TH =2 12,500 12,500 0
308 XXM SOIA 12,500 12,500 0
01 IXNHHBANEES 12,500 12,500 0
OANgdlier A AAREE SHFL 12,500
NAHSs& EESE A7 39,000 32,500 6,500
= 30,000
< 9,000
308 XX EHHSOIA 39,000 32,500 6,500
= 30,000
= 9,000
01 HXNHHBHELS 39,000 32,500 6,500
OAMARL BE=SS AKX 39,000
= 30,000
< 9,000
HASA B&E22(AZ2Xe) 20,035,714 26,159,924 A6,124,210
= 16,500,000
< 3,535,714
403 Ut SHHSA=0l& 20,035,714 25,759,924 A5,724,210
= 16,500,000
< 3,535,714
01 HXSHMA2E X 20,035,714 25,759,924 A5,724,210
OHHSHE MASL EZE2CALSY 20,035,714
= 16,500,000
< 3,535,714
HARA BE2 (AZE A 520,000 618,000 298,000
= 400,000
< 120,000
308 XXM SOIA 520,000 618,000 98,000
= 400,000
< 120,000
01 AXHHILEES 520,000 618,000 298,000
OHN=A MARL 288 € 2 520,000
= 400,000
< 120,000
NASsL SH =& 120,000 0 120,000
306 22 100,000 0 100,000
01 &3 100,000 0 100,000
OFY HHSE AASL =HSHE R I
=X A 100,000
308 XtXIEHH SOl A 20,000 0 20,000
01 HXNHHBHELS 20,000 0 20,000




M 23R4
M PHFUAMATEETS
el NAsA ST 2 2el (SH9: &)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
ONARUADR STHIE RYSE AMIA 20,000
HHEE MASsL SEg2el ¥ 28 400,000 0 400,000
306 £ 3 400,000 0 400,000
01 &3 400,000 0 400,000
OHHS=HE AAHSRL SE2el & 2L 400,000
ASIEHSHEX R 101,303 49,827 51,476
ABIEH sS4 & XY 51,303 49,827 1,476
307 21201 A 51,303 49,827 1,476
02 LAFAAFEX 39,303 37,827 1,476
OSE9 BIHSSZA(HAE2 10%) 4,050
OMIIXEX w=(0AEZ 10%) 17,253
Ol=d ZHASEL Ml SAHSS(0LE
2 10%) 18,000
04 QIZFHALAIH B = 12,000 12,000 0
O=23MIIseEsl HSHEAlS 12,000
AL BHEI23HTH AEHZ AL 50,000 0 50,000
307 21201 A 50,000 0 50,000
02 IS AHE L 50,000 0 50,000
OYr==23t A B = At 50,000
FotA HY 4,030,000 3,809,500 220,500
= 2,000,000
Xl 1,635,000
< 395,000
EH(JIS)R LIS BEMNY 2,045,000 2,339,500 A 294,500
= 2,000,000
< 45,000
JlsRuelEsxd 45,000 45,000 0
306 ¢ 2 45,000 45,000 0
01 &3 45,000 45,000 0
OJlapw oSSt a (0l A= 2 10%) 45,000
SERUESSA HE 2,000,000 2,166,500 A 166,500
= 2,000,000
403 UHXSHHS =0l & 2,000,000 2,166,500 A 166,500
= 2,000,000
01 X SHMA2E X 2,000,000 2,166,500 A 166,500
OFTEFRuUIsA A 2,000,000
= 2,000,000
=3F, B0 GARIIZA =4 1,135,000 470,000 665,000
Xl 1,135,000
AANVMESII AL (AZEA) 30,000 50,000 220,000
Xl 30,000




2N
X ZH -
L= B

el

SR aD
e Ny
ZE, B0 ANSHTA XA

SA - FE - BI(EA) - NRAY - By 0l &t San DS

308 X EHSOIA 30,000 50,000 A20,000
X 30,000

01 HIXNHHBHEELS 30,000 50,000 A20,000
OBZ ANSSITA =4 30,000
Xl 30,000

AANVMESII AL (AMZAE) 1,105,000 420,000 685,000
Xl 1,105,000

403 XSS A0l & 1,105,000 420,000 685,000
Xl 1,105,000

01 AXISHHA=2E = 1,105,000 420,000 685,000
OZ=F, B0 IAM2BatEAXH 1,105,000
Xl 1,105,000

EZ23AME 350,000 500,000 A 150,000

WEE32=EFH 350,000 500,000 A 150,000

403 A X EH S =0l A 350,000 500,000 A 150,000

01 X SHHAN2E= 350,000 500,000 A 150,000
OUWZ=std He 350,000

22 IE N 500,000 500,000 0
Xl 500,000

ST ONY 500,000 500,000 0
Xl 500,000

403 A X EHHS =0l A 500,000 500,000 0
Xl 500,000

01 HXISH A= F 500,000 500,000 0
OOIATHA A LIZtAY HE B2 T&AY 500,000
Xl 500,000

HY2HHH (2SR 4t) 60,416 64,379 A 3,963

23Hl (23R 4t1) 60,416 64,379 A 3,963

Jl2dHl(2ats 4t 60,416 64,379 A 3,963

201 L Er2A | 27,360 29,070 A1,710

01 At 2t2l bl 27,360 29,070 A1,710
O=stM S2FA(MaEZ 10%) 27,360

202 04l 26,928 28,611 A1,683

01 SLHOYI 26,928 28,611 A1,683
O gRFa(0AEZ 10%) 26,928

203 YR =2l 6,128 6,698 A570

03 Al =X YR =& 2,708 2,708 0
O3t AIARFZ(0f A E 2 5%) 2,708

04 FN2ELRZ=TH| 3,420 3,990 AB70
O=Zsts (0l & E 2 5%) 3,420




